
Peter had 10      oranges. Sam gave peter 3
oranges. How many      oranges does peter have?

Peter has 5      apples. Tina gave Peter 3 
oranges and 4      apples. Sam gave Peter 10

apples and 1     orange. 
How many apples     does Peter have now?




Tina has 3 pairs of        shoes. Her parents gifted
her a pair of shoes for her birthday. How many

pairs of       shoes does Tina have now?

I had 10      pencils initially. 10 students from a
class gave me 1     pencil each. How many   

 pencils do I have now?

DewWool Addition Word
Problems

Name : __________

Date   : __________
TIME  : ________



Sam had 4       fishes in his plate. He had to share
half      fish with his sister Tina. He also had to
share half       fish with his brother Peter. How
many       fishes does Sam have in his plate?

Sam had 4      oranges. One of those     oranges
was stolen. Two of those oranges were rotten
and thrown away. How many      oranges does

Sam have now?

Tina had 3 pairs of       shoes. Angela wanted one
pair, so Tina gave one pair of       shoes to Anela.

How many pairs of        shoes does Tina have
now?

 There were     10 buildings in a society, 4     were
destroyed in an Earthquake and      one was

destroyed in a fire-accident. How many 
buildings are there now in the society?

DewWool Subtraction
Word Problems

Name : __________

Date   : __________
TIME  : ________



There were 500    cell phones. 100 are
faulty. How many   are working fine?

A factory had 500    employees. 200
people have left the company. How

many    are working now?

I received 1000    dollars from Bank. I
spent 500 dollars. How much    do I

have now?

There were 50       buses. 33 were
destroyed by fire. How many       are

there now?

DewWool Subtraction
Word Problems

Name : __________

Date   : __________
TIME  : ________


